Algebra 2 







Name: _________________________
Unit 7, Day 12







Date: ______________ Period: _____
Rational Zero Theorem
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Possible rational zeros 
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	Find the remaining zeros of 
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 by completing the square on _________________ = 0.
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Example #2:  Find all the zeros of 
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Possible rational zeros 
[image: image8.wmf]p

q

=

____________________
	Start with x = ___
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     EXAMPLE CONTINUED

Possible rational zeros of _______________________ = 0:        
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Example #3:  Find all the zeros of 
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Possible rational zeros 
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	Upper Bound Theorem

When dividing 
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 by 
[image: image17.wmf](

)

xk

-

, and k > 0, and ______ entries in the last row are ≥ 0, then k is an ___________   ____________ for the _________ zeros of 
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	Try x = ___
	

	

	Lower Bound Theorem

When dividing 
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, and k < 0, and the entries in the last row __________________ between ______________ and ______________ (_______ counts as ______________ or ______________), then k is a ___________   ____________ for the _________ zeros of 
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Mixed Practice: 
	1.  Find all zeros of 
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 by first listing all possible rational zeros.  Sketch a graph of 
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	x = _________________

	2.  Write a standard (expanded) form equation of a polynomial with the given zeros.

	a)  cubic, zeros:  x = –1, 3, –4

	b)  quartic, zeros:  x = 
[image: image34.wmf]3

i

-

, 10i

	3.  Use long division to find 
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	4.  Graph 
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	Degree: _____ Zeros: ______________________

	5.  Evaluate.
	6.  Simplify.  Answer in 
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	7.  Determine the zeros for each polynomial function by factoring.  Graph 
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Rational Root Theorem


For any polynomial� EMBED Equation.DSMT4  ���, every rational _________ of � EMBED Equation.DSMT4  ��� has the form � EMBED Equation.DSMT4  ���, where:


p = ____________________ 		(� EMBED Equation.DSMT4  ��� is the ________________)





q = ____________________		(� EMBED Equation.DSMT4  ��� is the ____________   _________________)





Zeros of � EMBED Equation.DSMT4  ���:  x = _______________








Zeros of � EMBED Equation.DSMT4  ���:  x = _______________








Zeros of � EMBED Equation.DSMT4  ���:  x = _______________
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